



ON PYTHAGOREAN FUZZY IDEAL OF SUBTRACTION SEMIGROUP AND NEAR SUBTRACTION SEMIGROUP

V. CHINNADURAI AND A. ARULSELVAM*

ABSTRACT. In this paper, we define the notions of Pythagorean fuzzy ideal of subtraction semigroup and near subtraction semigroup. Also, we discuss some of its properties with examples.

1. INTRODUCTION

In 1969, Abbott introduced the notion of subtraction algebra. He considered the system of the form (ϕ, \circ, \setminus) where ϕ is a set of functions closed under the composition \circ of function where (ϕ, \circ) is a functional semigroup and (ϕ, \setminus) is a subtraction algebra [1]. Using this concept Schein[9] introduced the concept of subtraction semigroups in 1992. He proved that every subtraction semigroup is isomorphism to a different semigroup of invertible function. Zelink[13] studied an extraordinary kind of subtraction algebra called atomic subtraction algebra. A near subtraction semigroup satisfies all axioms of subtraction semigroup except one of the two distributive laws. Prince williams[8] defined the fuzzy ideal in near subtraction semigroup(NSS). Jun et al.[5] introduced the concept of ideals in subtraction algebra and gave some characterizations. Dheena et al.[3, 4] discussed and derived some properties of NSS, a generalization of subtraction semigroup. The concept of fuzzy set was initiated by Zadeh[12]. Mahalakshmi et al.[7] studied the notion of bi ideals of NSS. Chinnadurai[2] defined the concept of fuzzy ideals in algebraic structures. Kim et al.[6], studied some properties of intuitionistic fuzzy ideals of semigroups. Yager[10, 11] introduced the Pythagorean fuzzy set(PFS).

In this paper, we introduce the notions of Pythagorean fuzzy ideal in subtraction semigroup and near subtraction semigroup. Also we characterize the subtraction and near subtraction semigroup through fuzzification.

2. PRELIMINARIES

Now, we recall some new concepts of Pythagorean fuzzy ideals in NSS from the literature, which are required in the sequel.

2010 *Mathematics Subject Classification.* 00X00, 00G00, 00D00.

Key words and phrases. Pythagorean; Fuzzy set; subtraction; Near-subtraction; semigroup.

Received: November 12, 2020. Accepted: December 12, 2020. Published: December 31, 2020.

*Corresponding author.

The basic concepts of subtraction semigroup(SS), power set(PS), NSS [6] and zero symmetric are referred respectively.

Definition 2.1. A non-empty set X together with a binary operation " $-$ " is said to be a SA(subtraction algebra), if

- (i) $j - (k - j) = j$
- (ii) $j - (j - k) = k - (k - j)$
- (iii) $(j - k) - l = (j - l) - k \quad \forall j, k, l \in X.$

Definition 2.2. A subset I of SA X is called subalgebra of X if $j - k \in I \quad \forall j, k \in X$. In SA the following holds:

- (1) $j - 0 = j$ and $0 - j = 0$
- (2) $j - (j - k) \leq k$
- (3) $j \leq k$ if and only if $j = k - m$ for some $m \in X$
- (4) $j \leq k$ implies $j - l \leq k - l$ and $l - k \leq l - j \quad \forall l \in X$
- (5) $j - (j - (j - k)) = j - k$
- (6) $(j - k) - j = 0$
- (7) $(j - k) - k = j - k.$

3. PYTHAGOREAN FUZZY IDEAL IN SUBTRACTION SEMIGROUP

In this section X denotes subtraction semigroup(SS).

Definition 3.1. A Pythagorean fuzzy set(PFS) $D = (\pi, \vartheta)$ of X is called PFSS(Pythagorean fuzzy subtraction sub-semigroup) of X if

- (1) $\pi(j - k) \geq \bigwedge \{\pi(j), \pi(k)\}$
- (2) $\vartheta(j - k) \leq \bigvee \{\vartheta(j), \vartheta(k)\} \quad \forall j, k \in X.$

Example 3.2. Let $X = \{0, j, k, l\}$ be a subtraction sub-semigroup with two binary operations ' $-$ ' and ' \cdot ' is defined as follows.

$-$	0	j	k	l	\cdot	0	j	k	l
0	0	0	0	0	0	0	0	0	0
j	j	0	j	0	j	0	j	0	0
k	k	k	0	0	k	0	0	k	k
l	1	k	j	0	l	0	0	k	k

Define a Pythagorean fuzzy set $D = (\pi, \vartheta)$ where $\pi : X \rightarrow [0, 1]$ by $\pi(0) = 0.8, \pi(j) = 0.6, \pi(k) = 0.3, \pi(l) = 0.2$. Then $\vartheta : X \rightarrow [0, 1]$ by $\vartheta(0) = 0.3, \vartheta(j) = 0.4, \vartheta(k) = 0.6, \vartheta(l) = 0.7$ Then D is a PFSS of X . Hence $D = (\pi, \vartheta)$ is a subtraction sub-semigroup of X .

Definition 3.3. A PFS $D = (\pi, \vartheta)$ of X is called PFLI(resp. PFRI) of X , if $\forall j, k \in X$.

- (1) $\pi(j) \geq \bigwedge \{\pi(j - k), \pi(k)\}$
- (2) $\vartheta(j) \leq \bigvee \{\vartheta(j - k), \vartheta(k)\}$
- (3) $\pi(jk) \geq \bigwedge \{\pi(j), \pi(k)\}$
- (4) $\vartheta(jk) \leq \bigvee \{\vartheta(j), \vartheta(k)\}$
- (5) $\pi(jk) \geq \pi(k)$ (resp. $\pi(jk) \geq \pi(j)$)
- (6) $\vartheta(jk) \leq \vartheta(k)$ (resp. $\vartheta(jk) \leq \vartheta(j)$).

If π and ϑ are both PFLI and PFRI of X . Then π and ϑ are both PFI of X .

Example 3.4. Let $X = \{0, j, k, l\}$ be a SS with two binary operations $'-'$ and $'\cdot'$ is defined as follows.

-	0	j	k	l	·	0	j	k	l
0	0	0	0	0	0	0	0	0	0
j	j	0	j	0	j	0	j	0	0
k	k	k	0	0	k	0	0	k	k
l	l	k	j	0	l	0	0	k	k

Define a PFS $D = (\pi, \vartheta)$ where $\pi : X \rightarrow [0, 1]$ by $\pi(0) = 0.8, \pi(j) = 0.6, \pi(k) = 0.3, \pi(l) = 0.2$. Then $\vartheta : X \rightarrow [0, 1]$ by $\vartheta(0) = 0.3, \vartheta(j) = 0.4, \vartheta(k) = 0.6, \vartheta(l) = 0.7$. Then D is a PFL (resp.PFR) ideals of X . Hence $D = (\pi, \vartheta)$ is a PFLI (PFRI) of X .

Definition 3.5. Let $D_1 = (\pi_{D_1}, \vartheta_{D_1})$ and $D_2 = (\pi_{D_2}, \vartheta_{D_2})$ be any two PFS of X . Then the following FSs of X are defined as follows.

$$(D_1 \star D_2)(j) = \begin{cases} (\pi_{D_1} \star \pi_{D_2})(j) = \begin{cases} \bigvee_{j \leq xy} \wedge \{\pi_{D_1}(x), \pi_{D_2}(y)\} & \text{if } j \leq xy \\ [0, 0] & \text{otherwise.} \end{cases} \\ (\vartheta_{D_1} \star \vartheta_{D_2})(j) = \begin{cases} \bigwedge_{j \leq xy} \vee \{\vartheta_{D_1}(x), \vartheta_{D_2}(y)\} & \text{if } j \leq xy \\ [1, 1] & \text{otherwise.} \end{cases} \end{cases}$$

$$(D_1 \cap D_2)(j) = \begin{cases} (\pi_{D_1} \cap \pi_{D_2})(j) \\ (\vartheta_{D_1} \cup \vartheta_{D_2})(j) \forall j \in X \end{cases}$$

$$(D_1 - D_2)(j) = \begin{cases} (\pi_{D_1} - \pi_{D_2})(j) = \begin{cases} \bigvee_{j=k-l} \wedge \{\pi_{D_1}(k), \pi_{D_2}(l)\} & \text{if } j = k - l \forall j, k, l \in X \\ [0, 0] & \text{otherwise.} \end{cases} \\ (\vartheta_{D_1} - \vartheta_{D_2})(j) = \begin{cases} \bigwedge_{j=k-l} \vee \{\vartheta_{D_1}(k), \vartheta_{D_2}(l)\} & \text{if } j = k - l \forall j, k, l \in X \\ [1, 1] & \text{otherwise.} \end{cases} \end{cases}$$

Theorem 3.1. Every PFLI (resp. PFRI) of X is a PFSS of X .

Proof. Let π and ϑ be an PFI of X . Then

$$\begin{aligned}
 \pi(j - k) &\geq \wedge \{\pi((j - k) - r), \pi(l)\} \forall l \in X \\
 &\geq \wedge \{\pi((j - k) - l), \pi(j)\} \text{ for } l = j \\
 &= \wedge \{\pi(0), \pi(j)\} \\
 &= \pi(j).
 \end{aligned}$$

Thus

$$\begin{aligned}
 \pi(j - k) &\geq \pi(j). \\
 \vartheta(j - k) &\leq \vee \{\vartheta((j - k) - l), \vartheta(r)\} \forall l \in X \\
 &\leq \vee \{\vartheta((j - k) - l), \vartheta(j)\} \text{ for } l = j \\
 &= \vee \{\vartheta(0), \vartheta(j)\} \\
 &= \vartheta(j).
 \end{aligned}$$

Thus

$$\vartheta(j - k) \leq \vartheta(j).$$

Again consider

$$\pi(j - k) \geq \wedge \{\pi((j - k) - l), \pi(l)\} \forall l \in X$$

$$\begin{aligned}
&\geq \wedge\{\pi((j-k)-k), \pi(k)\} \text{ for } l=k \\
&= \wedge\{\pi(j-k), \pi(k)\} \text{ since } (j-k)-k = j-k \\
&= \wedge\{\pi(j), \pi(k)\}.
\end{aligned}$$

And

$$\begin{aligned}
\vartheta(j-k) &\leq \vee\{\vartheta((j-k)-l), \vartheta(l)\} \forall l \in X \\
&\leq \vee\{\vartheta((j-k)-k), \vartheta(k)\} \text{ for } l=k \\
&= \vee\{\vartheta(j-k), \vartheta(k)\} \text{ since } (j-k)-k = j-k \\
&= \vee\{\vartheta(j), \vartheta(k)\}.
\end{aligned}$$

Then π and ϑ are PFSS of X .

The converse is not true. □

Theorem 3.2. *If $D = (\pi, \vartheta)$ be an PFS of a SS X . Then*

(a)(i) $\pi \star \pi \leq \pi$

(ii) $\vartheta \star \vartheta \geq \vartheta$

(b)(i) $\pi(jk) \geq \wedge\{\pi(j), \pi(k)\}$

(ii) $\vartheta(jk) \leq \vee\{\vartheta(j), \vartheta(k)\} \forall j, k \in X$.

Proof. (a) \Rightarrow (b) Let $x, y \in X$.

Consider

$$\begin{aligned}
(\pi \star \pi)(jk) &= \bigvee_{xy \leq jk} \{\wedge\{\pi(j), \pi(k)\}\} \\
&\geq \wedge\{\pi(x), \pi(y)\}.
\end{aligned}$$

By (a) $\pi \star \pi \leq \pi$.

$$\begin{aligned}
\pi(xy) &\geq (\pi \star \pi)(xy) \\
&\geq \wedge\{\pi(x), \pi(y)\}.
\end{aligned}$$

Hence $\pi(xy) \geq \wedge\{\pi(x), \pi(y)\}$.

And

$$\begin{aligned}
(\vartheta \star \vartheta)(jk) &= \bigwedge_{xy \leq jk} \{\vee\{\vartheta(j), \vartheta(k)\}\} \\
&\leq \vee\{\vartheta(x), \vartheta(y)\}.
\end{aligned}$$

By (a) $\vartheta \star \vartheta \geq \vartheta$.

$$\begin{aligned}
\vartheta(xy) &\leq (\vartheta \star \vartheta)(xy) \\
&\leq \vee\{\vartheta(x), \vartheta(y)\}.
\end{aligned}$$

Hence $\vartheta(xy) \leq \vee\{\vartheta(x), \vartheta(y)\}$.

(b) \Leftrightarrow (a) Let $j \in X$.

Consider

$$\begin{aligned}
(\pi \star \pi)(j) &= \bigvee_{j \leq xy} \wedge\{\pi(x), \pi(y)\} \\
&\leq \bigvee_{j \leq xy} \{\pi(xy)\} \\
&\leq \bigvee_{j \leq xy} \{\pi(j)\} \\
&= \pi(j).
\end{aligned}$$

Thus $\pi \star \pi \leq \pi$. If j cannot be expressed as $j \leq xy$ then $(\pi \star \pi)(x) = 0 \leq \pi(j)$.

Thus $(\pi \star \pi)(j) \leq \pi(j) \forall j \in X$.

And

Let $j \in X$.

Consider

$$\begin{aligned}
(\vartheta \star \vartheta)(j) &= \bigwedge_{j \leq xy} \vee\{\vartheta(x), \vartheta(y)\} \\
&\geq \bigwedge_{j \leq xy} \{\vartheta(xy)\}
\end{aligned}$$

$$\begin{aligned} &\geq \bigwedge_{j \leq xy} \{\vartheta(j)\} \\ &= \vartheta(j). \end{aligned}$$

Thus $\vartheta \star \vartheta \geq \vartheta$. If j cannot be expressed as $j \leq ab$ then $(\vartheta \star \vartheta)(x) = 0 \geq \vartheta(j)$.

Thus $(\vartheta \star \vartheta)(j) \geq \vartheta(j) \forall j \in X$.

This implies that $\pi \star \pi \leq \pi$ and $\vartheta \star \vartheta \geq \vartheta$. \square

Theorem 3.3. Let $D = \langle \pi, \vartheta \rangle$ be an PFS of X . If $D = \langle \pi, \vartheta \rangle$ is an Pythagorean fuzzy(PF) sub-semigroup (PFLI, PFRI) of X . Then $\pi - \pi = \pi$ and $\vartheta - \vartheta = \vartheta$.

Proof. Let $D = \langle \pi, \vartheta \rangle$ be an PF sub-semigroup of X .

Let $p \in X$ then.

$$\begin{aligned} (\pi - \pi)(j) &= \bigvee_{j=x-y} \{\wedge\{\pi(x), \pi(y)\}\} x, y \in X \\ &\geq \wedge\{\pi(j), \pi(0)\} \text{ since } j = j - 0 \\ &= \pi(j). \end{aligned}$$

$$\begin{aligned} (\vartheta - \vartheta)(j) &= \bigwedge_{j=x-y} \{\vee\{\vartheta(x), \vartheta(y)\}\} x, y \in X \\ &\leq \vee\{\vartheta(j), \vartheta(0)\} \text{ since } j = j - 0 \\ &= \vartheta(j). \end{aligned}$$

On the other hand if $j = x - y$, $x, y \in X$, then

$$\begin{aligned} \pi(j) &= \pi(x - y) \\ &\geq \wedge\{\pi(x), \pi(y)\} \\ &\geq \bigvee_{j=x-y} \{\wedge\{\pi(x), \pi(y)\}\} \\ &= (\pi - \pi)(j). \end{aligned}$$

$$\begin{aligned} \vartheta(j) &= \vartheta(x - y) \\ &\leq \vee\{\vartheta(x), \vartheta(y)\} \\ &\leq \bigwedge_{j=x-y} \{\vee\{\vartheta(x), \vartheta(y)\}\} \\ &= (\vartheta - \vartheta)(j). \end{aligned}$$

Hence $\pi(j) = (\pi - \pi)(j)$ and $\vartheta(j) = (\vartheta - \vartheta)(j) \forall j \in X$.

Thus $\pi = \pi - \pi$ and $\vartheta = \vartheta - \vartheta$. \square

Theorem 3.4. Let D_1 and D_2 be any two PFS of X . If D_1 and D_2 are PFLI (resp. PFRI) of X . Then D_1 and D_2 is also PFLI (resp. PFRI) of X .

Proof. Let D_1 and D_2 be any two PFLIs of X .

Let $j, k \in X$.

Consider

$$\begin{aligned} (\pi_1 \cap \pi_2)(jk) &= \wedge\{\pi_1(jk), \pi_2(jk)\} \\ &\geq \wedge\{\wedge\{\pi_1(j), \pi_1(k)\}, \wedge\{\pi_2(j), \pi_2(k)\}\} \\ &\geq \wedge\{\wedge\{\pi_1(j), \pi_2(j)\}, \wedge\{\pi_1(k), \pi_2(k)\}\} \\ &= \wedge\{(\pi_1 \cap \pi_2)(j), (\pi_1 \cap \pi_2)(k)\}. \end{aligned}$$

$$\begin{aligned} (\pi_1 \cap \pi_2)(jk) &= \wedge\{\pi_1(jk), \pi_2(jk)\} \\ &\geq \wedge\{\pi_1(k), \pi_2(k)\} \\ &= (\pi_1 \cap \pi_2)(k). \end{aligned}$$

$$\begin{aligned} (\vartheta_1 \cup \vartheta_2)(jk) &= \vee\{\vartheta_1(jk), \vartheta_2(jk)\} \\ &\leq \vee\{\vee\{\vartheta_1(j), \vartheta_1(k)\}, \vee\{\vartheta_2(j), \vartheta_2(k)\}\} \\ &\leq \vee\{\vee\{\vartheta_1(j), \vartheta_2(j)\}, \vee\{\vartheta_1(k), \vartheta_2(k)\}\} \\ &= \vee\{(\vartheta_1 \cup \vartheta_2)(j), (\vartheta_1 \cup \vartheta_2)(k)\}. \end{aligned}$$

$$(\vartheta_1 \cup \vartheta_2)(jk) = \vee\{\vartheta_1(jk), \vartheta_2(jk)\}$$

$$\begin{aligned} &\leq \vee\{\vartheta_1(k), \vartheta_2(k)\} \\ &= (\vartheta_1 \cup \vartheta_2)(k). \end{aligned}$$

And

$$\begin{aligned} (\pi_1 \cap \pi_2)(j) &= \wedge\{\pi_1(j), \pi_2(j)\} \\ &\geq \wedge\{\wedge\{\pi_1(j-k), \pi_1(k)\}, \wedge\{\pi_2(j-k), \pi_2(k)\}\} \\ &\geq \wedge\{\wedge\{\pi_1(j-k), \pi_2(j-k)\}, \wedge\{\pi_1(k), \pi_2(k)\}\} \\ &= \wedge\{(\pi_1 \cap \pi_2)(j-k), (\pi_1 \cap \pi_2)(k)\}. \\ (\vartheta_1 \cup \vartheta_2)(j) &= \vee\{\vartheta_1(j), \vartheta_2(j)\} \\ &\leq \vee\{\vee\{\vartheta_1(j-k), \vartheta_1(k)\}, \vee\{\vartheta_2(j-k), \vartheta_2(k)\}\} \\ &\leq \vee\{\vee\{\vartheta_1(j-k), \vartheta_2(j-k)\}, \vee\{\vartheta_1(k), \vartheta_2(k)\}\} \\ &= \vee\{(\vartheta_1 \cup \vartheta_2)(j-k), (\vartheta_1 \cup \vartheta_2)(k)\}. \end{aligned}$$

This shows that the intersection of D_1 and D_2 two PFLI of X . \square

Theorem 3.5. *If $D_i = (\pi_i, \vartheta_i | i \in \Omega)$ is a family of PFLI (resp. PFRI) of a SS X . Then $\bigcap_{i \in \Omega} D_i = (\bigcap_{i \in \Omega} \pi_i, \bigcup_{i \in \Omega} \vartheta_i)$ is also a PFLI (resp. PFRI) of X where Ω is any IS(index set).*

Proof. Let $D_i = (\pi_i, \vartheta_i | i \in \Omega)$ be a family of PFLI (resp. PFRI) of X .

Let $j, k \in X$ and $\pi(j) = \bigcap_{i \in \Omega} \pi_i(j) = \bigwedge \pi_i(j)$, $\vartheta(j) = \bigcup_{i \in \Omega} \vartheta_i(j) = \bigvee \vartheta_i(j)$.

$$\begin{aligned} \pi(j) &= \bigwedge \pi_i(j) \\ &\geq \bigwedge \wedge\{\pi_i(j-k), \pi_i(k)\} \\ &= \wedge\{\bigwedge \pi_i(j-k), \bigwedge \pi_i(k)\} \\ &= \wedge\{\bigcap \pi_i(j-k), \bigcap \pi_i(k)\} \\ &= \wedge\{\pi(j-k), \pi(k)\}. \end{aligned}$$

$$\begin{aligned} \vartheta(j) &= \bigvee \vartheta_i(j) \\ &\leq \bigvee \vee\{\vartheta_i(j-k), \vartheta_i(k)\} \\ &= \vee\{\bigvee \vartheta_i(j-k), \bigvee \vartheta_i(k)\} \\ &= \vee\{\bigcup \vartheta_i(j-k), \bigcup \vartheta_i(k)\} \\ &= \vee\{\vartheta(j-k), \vartheta(k)\}. \end{aligned}$$

$$\begin{aligned} \pi(jk) &= \bigwedge \pi_i(jk) \\ &\geq \bigwedge \wedge\{\pi_i(j), \pi_i(k)\} \\ &= \wedge\{\bigwedge \pi_i(j), \bigwedge \pi_i(k)\} \\ &= \wedge\{\bigcap \pi_i(j), \bigcap \pi_i(k)\} \\ &= \wedge\{\pi(j), \pi(k)\}. \end{aligned}$$

$$\begin{aligned} \vartheta(jk) &= \bigvee \vartheta_i(jk) \\ &\leq \bigvee \vee\{\vartheta_i(j), \vartheta_i(k)\} \\ &= \vee\{\bigvee \vartheta_i(j), \bigvee \vartheta_i(k)\} \\ &= \vee\{\bigcup \vartheta_i(j), \bigcup \vartheta_i(k)\} \\ &= \vee\{\vartheta(j), \vartheta(k)\}. \end{aligned}$$

$$\pi(jk) = \bigwedge \pi_i(jk) \geq \bigwedge \pi_i(k) \geq \pi(k)$$

and

$$\vartheta(jk) = \bigvee \vartheta_i(jk) \leq \bigvee \vartheta_i(k) \leq \vartheta(k).$$

Hence, $\bigcap_{i \in \Omega} D_i = (\bigcap_{i \in \Omega} \pi_i, \bigcup_{i \in \Omega} \vartheta_i)$ is also a PFLI (resp. PFRI) of X . \square

Theorem 3.6. *If $D = (\pi, \vartheta)$ is any PFS of a SS X then $D = (\pi, \vartheta)$ is a PFLI (resp. PFRI) of X if and only if every Pythagorean level set $\bigcup(D, t, n)$ is a LI (resp. RI) of X when it is non-empty.*

Proof. Suppose that $D = (\pi, \vartheta)$ is a PFLI (resp. PFRI) of X . Let $j, k, j-k \in \bigcup(D, t, n)$ $\forall t \in [0, 1]$ and $n \in [0, 1]$. Then $\pi(j) \geq t$, $\pi(j-k) \geq t$, $\pi(k) \geq t$ and $\vartheta(j) \leq n$,

$\vartheta(j - k) \leq n, \vartheta(k) \leq n$.

Suppose $k, j - k \in \bigcup(D, t, n)$ then $\pi(j) \geq \wedge\{\pi(j - k), \pi(k)\} \geq \wedge\{t, t\} = t$ and $\vartheta(j) \vee \{\vartheta(j - k), \vartheta(k)\} \leq \vee\{n, n\} = n$. Hence, $jk \in \bigcup(D, t, n)$.

Suppose $j, k \in \bigcup(D, t, n)$ then $\pi(jk) \geq \wedge\{\pi(j), \pi(k)\} \geq \wedge\{t, t\} = t$ and $\vartheta(jk) \vee \{\vartheta(j), \vartheta(k)\} \leq \vee\{n, n\} = n$. Hence, $jk \in \bigcup(D, t, n)$.

Let $j \in X$ and $k \in \bigcup(D, t, n)$ then $\pi(jk) \geq \pi(k) \geq t$ and $\vartheta(jk) \leq \vartheta \leq n$.

This implies that $jk \in \bigcup(D, t, n)$. Hence $\bigcup(D, t, n)$ is a LI of X .

Conversely, let $t \in [0, 1]$ and $n \in [0, 1]$ be $\vartheta \in \bigcup(D, t, n) \neq 0$ and $\bigcup(D, t, n)$ is a LI (RI) of X .

We assume that $\pi(j) \not\geq \wedge\{\pi(j - k), \pi(k)\}$ or $\vartheta(j) \not\leq \vee\{\vartheta(j - k), \vartheta(k)\}$. If $\pi(j) \not\geq \wedge\{\pi(j - k), \pi(k)\}$ then $\exists t \in [0, 1] \ni \pi(j) < t < \wedge\{\pi(j - k), \pi(k)\}$ hence $j - k, k \in \bigcup(D, t, \vee\{\vartheta(j - k), \vartheta(k)\})$ but $j \notin \bigcup(D, t, \vee\{\vartheta(j - k), \vartheta(k)\})$ which is contradiction.

If $\vartheta(j) \not\leq \vee\{\vartheta(j - k), \vartheta(k)\}$ then $\exists n \in [0, 1] \ni \vartheta(j) > n > \vee\{\vartheta(j - k), \vartheta(k)\}$ hence $j - k, k \in \bigcup(D, \wedge\{\pi(j - k), \pi(k)\}, n)$ but $j \notin \bigcup(D, \wedge\{\pi(j - k), \pi(k)\})$ which is contradiction. Hence, $\pi(j) \geq \wedge\{\pi(j - k), \pi(k)\}$ and $\vartheta(j) \leq \vee\{\vartheta(j - k), \vartheta(k)\}$.

Let us assume that $\pi(jk) \not\geq \wedge\{\pi(j), \pi(k)\}$ or $\vartheta(jk) \not\leq \vee\{\vartheta(j), \vartheta(k)\}$. If $\pi(jk) \not\geq \wedge\{\pi(j), \pi(k)\}$ then $\exists t \in [0, 1] \ni \pi(jk) < t < \wedge\{\pi(j), \pi(k)\}$

hence $j, k \in \bigcup(D, t, \vee\{\vartheta(j), \vartheta(k)\})$ but $jk \notin \bigcup(D, t, \vee\{\vartheta(j), \vartheta(k)\})$ which is contradiction.

If $\vartheta(jk) \not\leq \vee\{\vartheta(j), \vartheta(k)\}$ then $\exists n \in [0, 1] \ni \vartheta(jk) > n > \vee\{\vartheta(j), \vartheta(k)\}$ hence $j, k \in \bigcup(D, \wedge\{\pi(j), \pi(k)\}, n)$ but $jk \notin \bigcup(D, \wedge\{\pi(j), \pi(k)\})$ which is contradiction. Hence, $\pi(jk) \geq \wedge\{\pi(j), \pi(k)\}$ and $\vartheta(jk) \leq \vee\{\vartheta(j), \vartheta(k)\}$.

Assume that $\pi(jk) \not\geq \pi(k)$ or $\vartheta(jk) \not\leq \vartheta(k)$. If $\pi(jk) \not\geq \pi(k)$ then $\exists t \in [0, 1] \ni \pi(jk) < t < \pi(k)$ hence $k \in \bigcup(D, t, \vartheta(k))$ but $jk \notin \bigcup(D, t, \vartheta(k))$ which is contradiction. If $\vartheta(jk) \not\leq \vartheta(k)$ then $\exists n \in [0, 1] \ni \vartheta(jk) > n > \vartheta(k)$ hence $k \in \bigcup(D, \pi(k), n)$ but $jk \notin \bigcup(D, \pi(k), n)$ which is contradiction.

Hence, $\pi(jk) \geq \pi(k)$ and $\vartheta(jk) \leq \vartheta(k)$.

Therefore, $D = (\pi, \vartheta)$ is a PFLI (resp. PFRI) of X . \square

Theorem 3.7. *Let N be any non-empty subset of a SS X . Then N is a LI (resp. RI) of X if and only if the characteristic PFS $\chi_N = (\pi_{\chi_N}, \vartheta_{\chi_N})$ of N is a PFLI (resp. PFRI) of X .*

Proof. Assume that N is a LI of X . Let $j, k \in X$. Suppose that $\pi_{\chi_N}(j) < \wedge\{\pi_{\chi_N}(j - k), \pi_{\chi_N}(k)\}$ and $\vartheta_{\chi_N}(j) > \vee\{\vartheta_{\chi_N}(j - k), \vartheta_{\chi_N}(k)\}$. It follows that $\pi_{\chi_N}(j) = 0, \wedge\{\pi_{\chi_N}(j - k), \pi_{\chi_N}(k)\} = 1$ and $\vartheta_{\chi_N}(j) = 1, \vee\{\vartheta_{\chi_N}(j - k), \vartheta_{\chi_N}(k)\} = 0$. This implies that $j - k, k \in N$ but $j \notin N$, a contradicts to N being a SS of X .

Suppose that $\pi_{\chi_N}(jk) < \wedge\{\pi_{\chi_N}(j), \pi_{\chi_N}(k)\}$ and $\vartheta_{\chi_N}(jk) > \vee\{\vartheta_{\chi_N}(j), \vartheta_{\chi_N}(k)\}$. It follows that $\pi_{\chi_N}(jk) = 0, \wedge\{\pi_{\chi_N}(j), \pi_{\chi_N}(k)\} = 1$ and $\vartheta_{\chi_N}(jk) = 1, \vee\{\vartheta_{\chi_N}(j), \vartheta_{\chi_N}(k)\} = 0$. This implies that $j, k \in N$ but $jk \notin N$, a contradicts to N .

Suppose that $\pi_{\chi_N}(jk) < \pi_{\chi_N}(k)$ and $\vartheta_{\chi_N}(jk) > \vartheta_{\chi_N}(k)$. It follows that $\pi_{\chi_N}(jk) = 0, \pi_{\chi_N}(k) = 1$ and $\vartheta_{\chi_N}(jk) = 1, \vartheta_{\chi_N}(k) = 0$. This implies that $k \in N$ but $jk \notin N$, a contradicts to N . This shows that $\chi_N = (\pi_{\chi_N}, \vartheta_{\chi_N})$ is a PFLI (resp. PFRI) of X .

Conversely, $\chi_N = (\pi_{\chi_N}, \vartheta_{\chi_N})$ is a PFLI (resp. PFRI) of X for any subset N of X .

Let $j - k, k \in N$ for any $j, k \in X$ then $\pi_{\chi_N}(j - k) = \pi_{\chi_N}(k) = 1$ and $\vartheta_{\chi_N}(j - k) = \vartheta_{\chi_N}(k) = 0$. Since χ_N is a PFLI (resp. PFRI) of X .

$\pi_{\chi_N}(j) \geq \wedge\{\pi_{\chi_N}(j - k), \pi_{\chi_N}(k)\} \geq \wedge\{1, 1\} = 1$ and $\vartheta_{\chi_N}(j) \leq \vee\{\vartheta_{\chi_N}(j - k), \vartheta_{\chi_N}(k)\} \leq \wedge\{0, 0\} = 0$. This implies that $j \in N$.

Let $j, k \in N$ for any $j, k \in X$ then $\pi_{\chi_N}(j) = \pi_{\chi_N}(k) = 1$ and $\vartheta_{\chi_N}(j) = \vartheta_{\chi_N}(k) = 0$.

Since χ_N is a PFLI (resp. PFRI) of X .

$\pi_{\chi_N}(jk) \geq \wedge\{\pi_{\chi_N}(j), \pi_{\chi_N}(k)\} \geq \wedge\{1, 1\} = 1$ and $\vartheta_{\chi_N}(jk) \leq \vee\{\vartheta_{\chi_N}(j), \vartheta_{\chi_N}(k)\} \leq \wedge\{0, 0\} = 0$. This implies that $jk \in N$.

Let $k \in N$ and $j \in X$ then $\pi_{\chi_N}(k) = 1$ and $\vartheta_{\chi_N}(k) = 0$. $\pi_{\chi_N}(jk) \geq \pi_{\chi_N}(k) \geq 1$ and $\vartheta_{\chi_N}(jk) \leq \vartheta_{\chi_N}(k) \geq 0$. This gives that $jk \in N$.

Hence, N is a LI (RI) of X . \square

4. PYTHAGOREAN FUZZY IDEAL OF NEAR-SUBTRACTION SEMIGROUP

Definition 4.1. Let X be a near-subtraction semigroup(NSS), (X, D) be a PFI. A PFS $D = (\pi, \vartheta)$ is called a PFI of X , if

- (1) $\pi(j - k) \geq \wedge\{\pi(j), \pi(k)\}$ and $\vartheta(j - k) \leq \vee\{\vartheta(j), \vartheta(k)\}$
- (2) $\pi(xj - x(y - j)) \geq \pi(j)$ and $\vartheta(xj - x(y - j)) \leq \vartheta(j)$
- (3) $\pi(jk) \geq \pi(j)$ and $\vartheta(jk) \leq \vartheta(j) \forall j, k, l, x, y \in X$.

If $D = (\pi, \vartheta)$ is a PFLI of X if it satisfies (1),(2) and if $D = (\pi, \vartheta)$ is a PFRI of X if it satisfies (1) and (3).

Theorem 4.1. If $D_i = (\pi_i, \vartheta_i | i \in \Omega)$ is a family of PFI of a NSS X then $\bigcap_{i \in \Omega} D_i = (\bigcap_{i \in \Omega} \pi_i, \bigcup_{i \in \Omega} \vartheta_i)$ is also a PFI of X where Ω is any IS(index set).

Proof. If $\{D_i\}_{i \in \Omega}$ is a family of PFI of X .

Let $\bigcap_{i \in \Omega} \pi_i(x) = (\bigwedge \pi_i)(j) = \bigwedge \pi_i(j)$ and $\bigcup_{i \in \Omega} \vartheta_i(x) = (\bigvee \vartheta_i)(j) = \bigvee \vartheta_i(j)$. $\forall j, k \in X$, we have

$$\begin{aligned} (\bigcap_{i \in \Omega} \pi_i)(j - k) &= \bigwedge \{\pi_i(j - k) | i \in \Omega\} \\ &\geq \bigwedge \wedge \{\pi_i(j), \pi_i(k) | i \in \Omega\} \\ &= \bigwedge \{\bigwedge \{\pi_i(j) | i \in \Omega\}, \bigwedge \{\pi_i(k) | i \in \Omega\}\} \\ &= \bigwedge \{\bigcap_{i \in \Omega} \pi_i(j), \bigcap_{i \in \Omega} \pi_i(k)\}. \\ (\bigcup_{i \in \Omega} \vartheta_i)(j - k) &= \bigvee \{\vartheta_i(j - k) | i \in \Omega\} \\ &\leq \bigvee \vee \{\vartheta_i(j), \vartheta_i(k) | i \in \Omega\} \\ &= \bigvee \{\bigvee \{\vartheta_i(j) | i \in \Omega\}, \bigvee \{\vartheta_i(k) | i \in \Omega\}\} \\ &= \bigvee \{\bigcup_{i \in \Omega} \vartheta_i(j), \bigcup_{i \in \Omega} \vartheta_i(k)\}. \end{aligned}$$

For all $j, x, y \in X$, we have

$$\begin{aligned} (\bigcap_{i \in \Omega} \pi_i)(xj - x(y - j)) &= \bigwedge \{\pi_i(xj - x(y - j)) | i \in \Omega\} \\ &\geq \bigwedge \{\pi_i(j) | i \in \Omega\} \\ &= \bigcap_{i \in \Omega} \pi_i(j). \\ (\bigcup_{i \in \Omega} \vartheta_i)(xj - x(y - j)) &= \bigvee \{\vartheta_i(xj - x(y - j)) | i \in \Omega\} \\ &\leq \bigvee \{\vartheta_i(j) | i \in \Omega\} \\ &= \bigcup_{i \in \Omega} \vartheta_i(j). \end{aligned}$$

For all $j, k \in X$, we have

$$\begin{aligned} (\bigcap_{i \in \Omega} \pi_i)(jk) &= \bigwedge \{\pi_i(jk) | i \in \Omega\} \\ &\geq \bigwedge \{\pi_i(j) | i \in \Omega\} \\ &= \bigcap_{i \in \Omega} \pi_i(j). \\ (\bigcup_{i \in \Omega} \vartheta_i)(jk) &= \bigvee \{\vartheta_i(jk) | i \in \Omega\} \\ &\leq \bigvee \{\vartheta_i(j) | i \in \Omega\} \\ &= \bigcup_{i \in \Omega} \vartheta_i(j). \end{aligned}$$

Hence, $\bigcap_{i \in \Omega} D_i = (\bigcap_{i \in \Omega} \pi_i, \bigcup_{i \in \Omega} \vartheta_i)$ is also a PFI of X . \square

Definition 4.2. An PFS $D = (\pi, \vartheta)$ of X is said to be an PFBI of X if $\forall j, k \in X$

- (i) $\pi(j - k) \geq \wedge\{\pi(j), \pi(k)\}$
- (ii) $\vartheta(j - k) \leq \vee\{\vartheta(j), \vartheta(k)\}$
- (iii) $(\pi \circ X \circ \pi) \cap (\pi \circ X) \star \pi \subseteq \pi$

$$(iv) (\vartheta \circ X \circ \vartheta) \cup (\vartheta \circ X) \star \vartheta \supseteq \vartheta.$$

Example 4.3. Let $X = \{0, j, k, l\}$ be a NSS with two binary operations $'-'$ and $'\star'$ defined as follows.

-	0	j	k	l	·	0	j	k	l
0	0	0	0	0	0	0	0	0	0
j	j	0	j	j	j	j	j	j	j
k	k	k	0	k	k	0	0	0	k
l	1	1	1	0	l	0	0	0	1

Define a PFS $D = (\pi, \vartheta)$ where $\pi : X \rightarrow [0, 1]$ by $\pi(0) = 0.8, \pi(j) = 0.6, \pi(k) = 0.3, \pi(l) = 0.2$. $(\pi \circ X \circ \pi)(0) = 0.8, (\pi \circ X \circ \pi)(j) = 0.7, (\pi \circ X \circ \pi)(k) = 0.5, (\pi \circ X \circ \pi)(l) = 0.2, (\pi \circ X) \star \pi(0) = 0.7, (\pi \circ X) \star \pi(j) = 0.6, (\pi \circ X) \star \pi(k) = 0.3, (\pi \circ X) \star \pi(l) = 0.1$ Then $\vartheta : X \rightarrow [0, 1]$ by $\vartheta(0) = 0.3, \vartheta(j) = 0.4, \vartheta(k) = 0.6, \vartheta(l) = 0.7$ $(\vartheta \circ X \circ \vartheta)(0) = 0.4, (\vartheta \circ X \circ \vartheta)(j) = 0.5, (\vartheta \circ X \circ \vartheta)(k) = 0.6, (\vartheta \circ X \circ \vartheta)(l) = 0.8, (\vartheta \circ X) \star \vartheta(0) = 0.3, (\vartheta \circ X) \star \vartheta(j) = 0.6, (\vartheta \circ X) \star \vartheta(k) = 0.7$ and $(\vartheta \circ X) \star \vartheta(l) = 0.8$.

Proposition 4.2. Let $D = (\pi, \vartheta)$ be a PFS of X . If $D = (\pi, \vartheta)$ is a PFLI of X then $D = (\pi, \vartheta)$ is a PFBI of X .

Proof. Let $j' \in X$ be such that $j' = xyz = jl - j(k - l)$, where $x, y, z, j, k, l \in X$. Then $((\pi X \pi) \cap (\pi X \star \pi))(j') = \wedge\{((\pi X \pi)(j'), (\pi X \star \pi)(j'))\} = \wedge\{\bigvee_{j'=xyz} \wedge\{\pi(x), \pi(y), \pi(z)\}, \bigvee_{j'=jl-j(k-l)} \wedge\{(\pi X)(j), \pi(l)\}\} = \wedge\{\bigvee\{\pi(x), \pi(z)\}, \bigvee\{(\pi X)(j), \pi(l)\}\}.$
 (Since $\pi X \subseteq X$ and π is a PFLI, then $\pi(jl - j(k - l)) \geq \pi(l)$)
 $\leq \wedge\{X(x), X(z), X(j), \pi(jl - j(k - l))\}$
 $= \wedge\{1, 1, 1, \pi(jl - j(k - l))\}$
 $= \pi(jl - j(k - l))$
 $= \pi(j').$

If j' is not expressible as $j' = xyz = jl - j(k - l)$ then $(\pi X \pi \cap \pi X \star \pi)(j') = 0 \leq \pi(j')$. Then $\pi X \pi \cap \pi X \star \pi \subseteq \pi$. Hence D is a PFBI of X .

And

$((\vartheta X \vartheta) \cup (\vartheta X \star \vartheta))(j') = \vee\{((\vartheta X \vartheta)(j'), (\vartheta X \star \vartheta)(j'))\} = \vee\{\bigwedge_{j'=xyz} \vee\{\vartheta(x), \vartheta(y), \vartheta(z)\}, \bigwedge_{j'=jl-j(k-l)} \vee\{(\vartheta X)(j), \vartheta(l)\}\} = \vee\{\bigwedge\{\vartheta(x), \vartheta(z)\}, \bigwedge\{(\vartheta X)(j), \vartheta(l)\}\}.$
 (Since $\vartheta X \supseteq X$ and ϑ is a PFLI, then $\vartheta(jl - j(k - l)) \leq \vartheta(l)$)
 $\geq \vee\{X(x), X(z), X(j), \vartheta(jl - j(k - l))\}$
 $= \vee\{0, 0, 0, \vartheta(jl - j(k - l))\}$
 $= \vartheta(jl - j(k - l))$
 $= \vartheta(j').$

If j' is not expressible as $j' = xyz = jl - j(k - l)$ then $(\vartheta X \vartheta \cup \vartheta X \star \vartheta)(j') = 0 \geq \vartheta(j')$. Then $\vartheta X \vartheta \cup \vartheta X \star \vartheta \supseteq \vartheta$. Hence D is a PFBI of X . \square

Proposition 4.3. Let $D = (\pi, \vartheta)$ be a PFS of X . If $D = (\pi, \vartheta)$ is a PFRI of X then $D = (\pi, \vartheta)$ is a PFBI of X .

Proof. Let $j' \in X$ be $\exists j' = xy = jl - j(k-l)$, $x = x_1x_2$, where x, x_1, x_2, y, j, k and l are in X . Consider,

$$\begin{aligned} ((\pi X \pi) \cap (\pi X \star \pi))(j') &= \wedge\{(\pi X \pi)(j'), (\pi X \star \pi)(j')\} \\ &= \wedge\left\{\bigvee_{j'=xy} \wedge\{(\pi X)(x), \pi(y)\}, (\pi X \star \pi)(jl - j(k-l))\right\} \\ &= \wedge\left\{\bigvee_{j'=xy} \wedge\left\{\bigvee_{x=x_1x_2} \wedge\{\pi(x_1), X(x_2)\}, \pi(y)\right\}, (\pi X \star \pi)(jl - j(k-l))\right\} \\ &= \wedge\left\{\bigvee_{j'=xy} \wedge\left\{\bigvee_{x=x_1x_2} \{\pi(a_1)\}, \pi(b)\right\}, (\pi X \star \pi)(jl - j(k-l))\right\} \\ &= \wedge\{\pi(x_1), \pi(y), (\pi X \star \pi)(jl - j(k-l))\}, \\ (\text{since } D = (\pi, \vartheta) \text{ is a PFRI, we have } \pi(xy) &= \pi(x_1x_2y) = \pi(x_1(x_2y)) \geq \pi(x_1) \\ &\leq \wedge\{\pi(xy), 1, 1\} = \pi(xy) = \pi(j'). \end{aligned}$$

If j' is not expressible as $j' = xyz = jl - j(k-l)$ then $(\pi X \pi \cap \pi X \star \pi)(j') = 0 \leq \pi(j')$. Then $\pi X \pi \cap \pi X \star \pi \subseteq \pi$. Hence D is a PFBI of X .

And

$$\begin{aligned} ((\vartheta X \vartheta) \cup (\vartheta X \star \vartheta))(j') &= \vee\{(\vartheta X \vartheta)(j'), (\vartheta X \star \vartheta)(j')\} \\ &= \vee\left\{\bigwedge_{j'=xy} \vee\{(\vartheta X)(x), \vartheta(y)\}, (\vartheta X \star \vartheta)(jl - j(k-l))\right\} \\ &= \vee\left\{\bigwedge_{j'=xy} \vee\left\{\bigwedge_{x=x_1x_2} \vee\{\vartheta(x_1), X(x_2)\}, \vartheta(y)\right\}, (\vartheta X \star \vartheta)(jl - j(k-l))\right\} \\ &= \vee\left\{\bigwedge_{j'=xy} \vee\left\{\bigwedge_{x=x_1x_2} \{\vartheta(x_1)\}, \vartheta(y)\right\}, (\vartheta X \star \vartheta)(jl - j(k-l))\right\} \\ &= \vee\{\vartheta(x_1), \vartheta(y), (\vartheta X \star \vartheta)(jl - j(k-l))\}, \\ (\text{since } D = (\pi, \vartheta) \text{ is a PFRI, we have } \vartheta(xy) &= \vartheta(x_1x_2y) = \vartheta(x_1(x_2y)) \leq \vartheta(x_1) \\ &\geq \vee\{\vartheta(xy), 1, 1\} = \vartheta(xy) = \vartheta(j'). \end{aligned}$$

If j' is not expressible as $j' = xyz = jl - j(k-l)$ then $(\vartheta X \vartheta \cup \vartheta X \star \vartheta)(j') = 0 \leq \vartheta(j')$. Then $\vartheta X \vartheta \cup \vartheta X \star \vartheta \subseteq \vartheta$. Hence D is a PFBI of X . \square

Theorem 4.4. Let $D = (\pi, \vartheta)$ be a PFSA (Pythagorean fuzzy subalgebra) of X . If $DXD \subseteq D$, then D is a PFBI of X .

Proof. Assume that π is a PFSA of X and $\pi X \pi \subseteq \pi$. Let $j \in X$. Then $(\pi X \pi \cap \pi X \star \pi)(j) = \wedge\{(\pi X \pi)(j), (\pi X \star \pi)(j)\} \leq (\pi X \pi)(j) \leq \pi(j)$.

Thus $(\pi X \pi \cap \pi X \star \pi) \subseteq \pi$ and π is a PFBI of X and

assume that ϑ is a PFSA of X and $\vartheta X \vartheta \supseteq \vartheta$. Let $j \in X$. Then

$$(\vartheta X \vartheta \cup \vartheta X \star \vartheta)(j) = \vee\{(\vartheta X \vartheta)(j), (\vartheta X \star \vartheta)(j)\} \geq (\vartheta X \vartheta)(j) \geq \vartheta(j).$$

Thus $(\vartheta X \vartheta \cup \vartheta X \star \vartheta) \supseteq \vartheta$ and ϑ is a PFBI of X . \square

Theorem 4.5. If X is a ZSNSS (zero symmetric near-subtraction semigroup) and D is a PFBI of X then $\pi X \pi \subseteq \pi$ and $\vartheta X \vartheta \supseteq \vartheta$.

Proof. Let π be a PFBI of X . Then $\pi X \pi \cap \pi X \star \pi \subseteq \pi$. Clearly $\pi(0) \geq \pi(j)$. Thus $(\pi X)(0) \geq (\pi X)(j) \forall j \in X$. Since X is a ZSNSS, $\pi X \pi \subseteq \pi X \star \pi$. So $\pi X \pi \cap \pi X \star \pi = \pi X \pi \subseteq \pi$,

and let ϑ be a PFBI of X . Then $\vartheta X \vartheta \cup \vartheta X \star \vartheta \supseteq \vartheta$. Clearly $\vartheta(0) \leq \vartheta(j)$. Thus $(\vartheta X)(0) \leq (\vartheta X)(j) \forall j \in X$. Since X is a ZSNSS, $\vartheta X \vartheta \supseteq \vartheta X \star \vartheta$. So $\vartheta X \vartheta \cup \vartheta X \star \vartheta = \vartheta X \vartheta \supseteq \vartheta$. Which is the required result. \square

Theorem 4.6. Let $D = (\pi, \vartheta)$ be a PFBI of a ZSNSS X . Then $\pi(jkl) \geq \wedge\{\pi(j), \pi(l)\}$ and $\pi(jkl) \leq \vee\{\pi(j), \pi(l)\}$.

Proof. Assume that π is a PFBI of ZSNSS X . BY Theorem 3.19 $\pi X \pi \subseteq \pi$. Let $j, k, l \in X$. Then

$$\begin{aligned} \pi(jkl) &\geq (\pi X \pi)(jkl) \\ &= \bigvee_{jkl=xy} \wedge \{(\pi X)(x), \pi(y)\} \\ &\geq \wedge \{(\pi X)(jk), \pi(l)\} \\ &\geq \wedge \{(\pi X)(j), X(k), \pi(l)\} \\ &= \wedge \{(\pi X)(j), 1, \pi(l)\} \\ &= \wedge \{(\pi X)(j), \pi(l)\}. \end{aligned}$$

Thus $\pi(pqr) \geq \wedge \{\pi(j), \pi(l)\}$.

And

$$\begin{aligned} \vartheta(jkl) &\geq (\vartheta X \vartheta)(jkl) \\ &= \bigwedge_{jkl=xy} \vee \{(\vartheta X)(x), \vartheta(y)\} \\ &\leq \vee \{(\vartheta X)(jk), \vartheta(l)\} \\ &\leq \vee \{(\vartheta X)(j), X(k), \vartheta(l)\} \\ &= \vee \{(\vartheta X)(j), 1, \vartheta(l)\} \\ &= \vee \{(\vartheta X)(j), \vartheta(l)\}. \end{aligned}$$

Thus $\vartheta(jkl) \leq \vee \{\vartheta(j), \vartheta(l)\}$. \square

Theorem 4.7. Let $D_1 = (\pi_1, \vartheta_1)$ and $D_2 = (\pi_2, \vartheta_2)$ be any two PFBI of X . Then $D_1 \cap D_2$ is also a PFBI of X .

Proof. Let π_1 and π_2 be any two PFBI of X . Let $j, k \in X$. Then

$$\begin{aligned} (\pi_1 \cap \pi_2)(j - k) &= \wedge \{\pi_1(j - k), \pi_2(j - k)\} \\ &\geq \wedge \{\wedge \{\pi_1(j), \pi_1(k)\}, \wedge \{\pi_2(j), \pi_2(k)\}\} \\ &= \wedge \{\wedge \{\pi_1(j), \pi_2(j)\}, \wedge \{\pi_1(k), \pi_2(k)\}\} \\ &= \wedge \{(\pi_1 \cap \pi_2)(j), (\pi_1 \cap \pi_2)(k)\}. \end{aligned}$$

Let $j' \in X$. Choose $x, y, j, k, l \in X$ such that $j' = xyz = jl - j(k - l)$. Since π_1 and π_2 are PFBI of X , we have

$$\begin{aligned} &= \wedge \left\{ \bigvee_{j'=xyz} \wedge \{\pi_1(x), \pi_1(z)\}, \bigvee_{j'=jl-j(k-l)} \pi_1 \right\} \leq \pi_1(j) \\ &= \wedge \left\{ \bigvee_{j'=xyz} \wedge \{\pi_2(x), \pi_2(z)\}, \bigvee_{j'=jl-j(k-l)} \pi_2 \right\} \leq \pi_2(j). \end{aligned}$$

Now

$$\begin{aligned} &= \wedge \{((\pi_1 \cap \pi_2)X(\pi_1 \cap \pi_2))(j'), ((\pi_1 \cap \pi_2)X \star (\pi_1 \cap \pi_2))(j')\} \\ &= \wedge \left\{ \bigvee_{j'=xyz} \wedge \{(\pi_1 \cap \pi_1)(x), (\pi_1 \cap \pi_2)(z)\}, \bigvee_{j'=jl-j(k-l)} (\pi_1 \cap \pi_2)(l) \right\} \\ &= \wedge \left\{ \bigvee_{j'=xyz} \wedge \{\wedge \{\pi_1(x), \pi_2(x)\}, \wedge \{\pi_1(z), \pi_2(z)\}\}, \bigvee_{j'=jl-j(k-l)} \wedge \{\pi_1(l), \pi_2(l)\} \right\} \\ &= \wedge \left\{ \wedge \left\{ \bigvee_{j'=xyz} \wedge \{\pi_1(x), \pi_1(z)\}, \bigvee_{j'=jl-j(k-l)} \pi_1(l) \right\}, \wedge \left\{ \bigvee_{j'=xyz} \wedge \{\pi_2(x), \pi_2(z)\}, \right. \right. \\ &\quad \left. \left. \bigvee_{j'=jl-j(k-l)} \pi_2(l) \right\} \right\} \\ &\leq \wedge \{\pi_1(j), \pi_2(j)\} \\ &= (\pi_1 \cap \pi_2)(j). \end{aligned}$$

Thus $\pi_1 \cap \pi_2$ is a PFBI of X . and

$$\begin{aligned} (\vartheta_1 \cup \vartheta_2)(j - k) &= \vee \{\vartheta_1(j - k), \vartheta_2(j - k)\} \\ &\leq \vee \{\vee \{\vartheta_1(j), \vartheta_1(k)\}, \vee \{\vartheta_2(j), \vartheta_2(k)\}\} \\ &= \vee \{\vee \{\vartheta_1(j), \vartheta_2(j)\}, \vee \{\vartheta_1(k), \vartheta_2(k)\}\} \\ &= \vee \{(\vartheta_1 \cup \vartheta_2)(j), (\vartheta_1 \cup \vartheta_2)(k)\}. \end{aligned}$$

Let $j' \in X$. Choose $x, y, j, k, l \in X$, $\ni j' = xyz = jl - j(k-l)$. Since ϑ_1 and ϑ_2 are PFBI of X , we have

$$\begin{aligned} &= \vee \left\{ \bigwedge_{j'=xyz} \vee \{ \vartheta_1(x), \vartheta_1(z) \}, \bigwedge_{j'=jl-j(k-l)} \vartheta_1 \right\} \geq \vartheta_1(j) \\ &= \vee \left\{ \bigwedge_{j'=xyz} \vee \{ \vartheta_2(x), \vartheta_2(z) \}, \bigwedge_{j'=jl-j(k-l)} \vartheta_2 \right\} \geq \vartheta_2(j). \end{aligned}$$

Now

$$\begin{aligned} &= \vee \{ ((\vartheta_1 \cup \vartheta_2)X(\vartheta_1 \cup \vartheta_2))(j'), ((\vartheta_1 \cup \vartheta_2)X \star (\vartheta_1 \cup \vartheta_2))(j') \} \\ &= \vee \left\{ \bigwedge_{j'=xyz} \vee \{ (\vartheta_1 \cup \vartheta_1)(x), (\vartheta_1 \cup \vartheta_2)(z) \}, \bigwedge_{j'=jl-j(k-l)} (\vartheta_1 \cup \vartheta_2)(l) \right\} \\ &= \vee \left\{ \bigwedge_{j'=xyz} \vee \{ \vee \{ \vartheta_1(x), \vartheta_2(x) \}, \vee \{ \vartheta_1(z), \vartheta_2(z) \} \}, \bigwedge_{j'=jl-j(k-l)} \vee \{ \vartheta_1(l), \vartheta_2(l) \} \right\} \\ &= \vee \left\{ \vee \left\{ \bigwedge_{j'=xyz} \vee \{ \vartheta_1(x), \vartheta_1(z) \}, \bigwedge_{j'=jl-j(k-l)} \vartheta_1(l) \right\}, \vee \left\{ \bigwedge_{j'=xyz} \vee \{ \vartheta_2(x), \vartheta_2(z) \}, \right. \right. \\ &\quad \left. \left. \bigwedge_{j'=jl-j(k-l)} \vartheta_2(l) \right\} \right\} \\ &\geq \vee \{ \vartheta_1(j), \vartheta_2(j) \} \\ &= (\vartheta_1 \cup \vartheta_2)(j). \end{aligned}$$

Thus $\vartheta_1 \cup \vartheta_2$ is a PFBI of X . □

REFERENCES

- [1] J. C. Abbott. Sets, Lattices and Boolean algebras, Allyn and Bacon, Boston, Year 1969.
- [2] V. Chinnadurai. Fuzzy ideals in algebraic structures. Lap Lambert Academic Publishing, Year 2013.
- [3] P. Dheena and G. Satheeshkumar. On strongly regular near-subtraction semigroups, Commun. Korean Math. Soc., Year 2007, p 323-330.
- [4] P. Dheena and G. Satheeshkumar. Weakly prime left ideals in near-subtraction semigroups, Commun. Korean Math. Soc., 23(3), Year 2008, p 325-331.
- [5] Y. B. Jun, Kyung Ja Lee and Asghar Khan. Ideal theory of subtraction algebras, Sci. Math. Jpn, 61, Year 2005, p 459-464.
- [6] H.S. Kim and Y.B. Jun. Intuitionistic fuzzy ideals of semigroups, Indian J. Pure Appl. Math., 33(4), Year 2002, p 443-449.
- [7] V. Mahalakshmi, S. Maharasi and S. Jayalakshmi. Bi-ideals of Near-Subtraction semigroup, Indian Advances in Algebra, 6(1), Year 2013, p 35-48.
- [8] D. R. Prince Williams. Fuzzy ideals in near-subtraction semigroups, International Scholarly and Scientific Research and Innovation, 2(7), Year 2008, p 625-632.
- [9] B.M. Schein. Difference semigroups, Algebra, 20, Year 1992, p 2513-2169.
- [10] R.R. Yager. Pythagorean fuzzy subsets, In: Proc Joint IFSA World Congress and NAFIPS Annual Meeting, Edmonton, Canada, Year 2013, p 57-61.
- [11] R.R. Yager. Pythagorean membership grades in multicriteria decision making, IEEE Transaction on Fuzzy Systems, 22, Year 2014, p 958-965.
- [12] L. A. Zadeh. Fuzzy sets, Information and Control, 8, Year 1965, p 338-353.
- [13] B. Zelinka. Subtraction semigroups, Math. Bohemia, 120, Year 1995, p 445-447.

V. CHINNADURAI

DEPARTMENT OF MATHEMATICS, ANNAMALAI UNIVERSITY, ANNAMALAINAGAR-608002, TAMILNADU, INDIA.

Email address: kv.chinnadurai@yahoo.com

A. ARULSELVAM

DEPARTMENT OF MATHEMATICS, ANNAMALAI UNIVERSITY, ANNAMALAINAGAR-608002, TAMILNADU, INDIA.

Email address: arulselvam.a91@gmail.com